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B. Com. (Part IT) EXAMINATION, 2020
(Old Course)
'(Group—[ : Accounting)
Paper Second
. COST ACCOUNTING
Time : Three Hours
Maximum Marks : 75
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Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.
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What is the significance of Cost Accounting to
Management ? In what respect does cost accounting differ
from financial accounting ?
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The particulars of ‘A’ and ‘B’ material are as follows :
Normal usage 10 units per week each

Minimum usage 5 units per week each

Maximum usage 15 units per week each
Re-order quantity *A’—60 units
‘B’—100 units
Re-order period ‘A’—3 to 5 week
‘B’—2 to 4 week
Calculate for each material :

(a) Re-order level

(b) Minimum level

(¢) Maximum level

(d) Average stock level
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What is meant by incentive plan in remuneration of
labour ? Describe any four such methods with their merits
and demerits.
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Prepare a machine hour rate computation for the month of

February to cover the overhead expenses indicated below
relating to the particular machine :

Per
Annum
®
Rent of department (space occupied by
machine one-fifth of the department) 7,800
Lighting (number of men in the department 12,
2 men engaged on the machine) 2,880
Insurance, etc. 360
Cotton waste, oil etc. : 600
Salary of foreman (one-fourth of the
foreman’s time is occupied by this machine
and the remainder equally upon other two ]
machines) 60,000

The cost of the machine is ¥ 92,000 and has estimated

scrap value of ¥ 2,000.

It is assumed from past experience :

(i) that the machine will work for 1800 hours per
annum.

(ii) that it will incur expenditure of ¥ 11,250 in its
working life in respect of repairs and maintenance.

(iii) that is consumes 5 units of power per hour at the
cost of 60 paise per unit.

(iv) that the working life for the machine will be 18000
hours.
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M/s. Hindustan Traders manufactures three types of fans—
table fan, ceiling fan and cooler. The materials and wages
costs are as under :

Material Wages
®) ®)
Table Fan 60 80
Ceiling Fan 100 100
Cooler 900 250

His total factory overheads for the month of August, 2019
was T 1,00,000. You are asked to determine the factory
cost of each type of fan assuming that one ceiling fan is
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equivalent to two table fans and one cooler is equivalent
to five table fans for the purpose of overheads allocation.
The production in the month of August, 2019 was 1000
table fans, 500 ceiling fans and 100 coolers.
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‘A’ Construction Company undertook a contract of
Z 50,00,000 for the construction of new building in a
college. Following expenditures were incurred during the
year :

4
Materials directly purchased 4,50,000
Material issued from stores 5,00,000
Plant installed (cost) 3,50,000
Wages paid 10,00,000
Other expenses 1,65,000
Accrued wages and other expenses 4,25,000

Of the plant and materials charged to Contract Account,
Plant costing T 20,000 and Materials costing T 1,50,000
were destroyed. Materials costing T 20,000 were sold for
% 25,000. Plant costing ¥ 5,000 was transferred to stores
at the last day of the year and a part of the plant whose
cost was T 2,000 became useless due to damage. Work
costing T 24,00,000 was certified 80% of when was
received in cash. Work done but not certified was
% 10,000. Depreciate plant @ 10% per annum. Prepare
Contract Account for the year and show the items related
to contract in the Balance Sheet.
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_beginning of October, 2019 at the cost of ¥ 1 per unit. The

oother expenses were as follows :

Process Process Process
AR | PO | T
Sundry Materials 1,000 1,500 500
Labour 5,000 8,000 6,500
Direct Expenses 1,050 1,188 2,009
Actual output was :

Process A 9500 units; Process B 9100 units; Process C
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A product passes through three processes A, B and C. The
normal wastage of each process is as follows :

Process A-3 percent, Process B-5 percent, Process C-8
percent.

Wastage of Process A was sold at 25 paise per unit, that
of Process B at a 50 paise per unit and that of Process C at
¥ 1 unit. 10000 units were issued to Process A in the
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8100 units.

Prepare the Process Account, assuming that there was no
opening or closing stock. Also give the abnormal wastage

or abnormal efficiency.
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A Transport Service Company is running 4 buses between

two town.s which are 50 km apart. Seating capacity of

each' bus is 40 passengers. The following particulars were

obtained from their books for April, 2019 : :

Actua} passenger lorried were 75% of the seating
capacity. All the four buses run on all days of the month.
Each bus made one round trip per day. Find out the cost

per passenger km.
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Wages of divers and cleaners 1:100
Wages of conductors ; 1,000 |-
Salaries of office staff 1,200
Diesel oil and other oils 3,800
Repairs and Maintenance ” 900
Taxation and Insurance i 1,500
Depreciation 2,600
Road Licence fee per year 500
Interest and other charges 1,500

5 b CD-2024

What do you understand by Cost Reconciliation
Statement ? Discuss the causes of difference between

Costing Profit and Financial Profit.
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From the following information calculate P/V Ratio,
B. E. P., Margin of safety and percentage of margin of

safety :

Year-1 Year-1l
_ ® ®
Sales 13,00,000 | 3,60,000
Fixed Cost i 90,000 1,20,000
Variable Cost 1,50,000 2,16,000
CD-2024 1,700
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